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Note :— Attempt six questions in all. Question No. 1 is
compulsory having ten short answer questions. Give
answer to each short question in about 2 marks. For
other five questions, select one question from each
Unit. Every long answer question carries 12 marks
each for regular students and 16 marks each for private
students.
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Compulsory Question
(afrard W)

1. Answer all short questions °
wft @ qydl & S Af
(i) Assumptions of Kalecki's thﬂDI'jf of profits.

FOF F TG B (EE 1 Frgand |
(i) What is rational zone of production ?
I w1 ARG & FM e 7
(iii) Define Oligopoly.
ety #1 gty Fifea |

(iv) What is the concept of duality in consumer theory ?

IqiEar fagra § 29 $1 FEuROn #=4 & 7

(v) Define contestable market.
yfoergt arm #1 uftafoa ifsm

(vi) What is meant by full-cost pricing ?
g @ qed famitr @ wn o@ed ® 2

(vi1) What objections are raised aganm Sylus-[,abtm S
mﬂdﬁ] of limit-pricing ? £33




(ix) What is insurance adverse
R LG W EETE ST
(x) Define the term ‘Pareto Optimum’.

WA sfenn’ ym @) ofonf w1
Unit-I
(FTE-1)
2. What is meant by empirical testing of a model ? Why a

model that cannot be evaluated empirically is not
considered a satisfactory model ?

fedt Wi & oFHYaS=g qiygw @ = agd @ 7 99
e ® FANEAT HeAwd A€ fhAl W1 H@h@ 3§
qaoee Higd # T8l " S ?
3. Explain Slutsky substitution effect. Discuss the effect for
fall and rise in price. |
R STEYSE YWE Rl GHERY| HIE H frEe 3R
afg & W@ W W SIS
Unit-II

- Gﬁlﬁ-ﬂ)

selection ?

- :-'m lnn'atﬂmporal utility function ?
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9. Discuss IS-LM

Unit-V
(3%T3-V)

10. State, elaborate and critically examine the salient features
and conclusions of Pigouvian welfare economics.

T FA S # ger fadmed e frad
11. Desc 1be Marshallia

e L -
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Note — Attempt six questions in all, selecting one question
from each Unit. Question No. 1 is compulsory.
I Question No. 1 consists 20 marks. All the remaining
qm:stinns carry 12 and 16 marks each for regular

H,H, and -.- rivate students rsspectwely
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Compulsory Questions
(st 99)
i - # ?
1. () Whatis a S}'mmet;c Matrx
' qufad 3;13{5 P,
w . N ® 3 "
(i) Write properties of Matrix Multiplication.
g A & T fafa |
d by Parametric function ?
(i1) What do you understand by
Yoifes wod @ o9 F TEEA © ¢
(tv) What is Lagrange’s Multiplier ?
oIS U R 2

(v) Write down an example of Homogeneous difference
equation.

TG SR FHH H UH I/ fefEu |

(vi) What do you understand by differential equation ?

ATFA FHIF § A9 F oGETE E

(vi)) Write down equation of straight line in intercept
form

Fﬂ%ﬂ-%@mmm:@wmﬁﬁf@ql

(viii) Define consumer’s surplus.

SYHIRT % SRR # wfenfen S

(ix) Distinguish between open
Model

g 3R 9 FR-3Re wew & w RN TR
(x) Define slack and surplus variables in PP

mﬁﬁmaﬂtmmﬁvﬁmﬁm
C-426

and closed Input-Output
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Unit-1

(Fh13-1)

i I
A=|7 -1 8
I 4 .2
Show that (A')! = (A-))!,

afg .

[ A B
A=|7 -1 8
4304 2

Y f&@ (Al)! = (A,
3. Solve the following system of equations using Cramer’s
rule :

x+yv+z=1




s @ Veify BUCT

(i) Prove that :

E

~ AR-MR «
where E is Elasticity of demand, AR is Average
Revenue and MR is Marginal Revenue.

v g
.

-"E. ]
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5. Find the Maxima and Minima of the function :

z = 5x + 6y - gy
Subject to -

2 =52 4 62 - xy

X+ 2y = 24
Unit-II1

6. If the cost (c) is related to the number of

items (x) by the
differential equation :

; ﬁ": 2(1+x—-¢)

Find ¢ as a function of x given that ¢ = 0 when x = 0
Ife Td (¢) A< & U ETI W‘ﬁ S & (v) ¥

ira




7. Solve
Yol 6Y 41 + Nx
@ g G
Ly 273X
Ye#2 ~ 6y pt” e :
Unit-1V
(z@E-1V)
8. (i) Find the equation of 2 rectangular Hyperbola whose
asymplotes are parallel to x-axis, Centre 15 al (2, 3)
and ¢ = 5
& AR SfarEad qefgo @@ RIS
ﬁﬂ%mﬁ'-gx_*m!%amwi % (2, 3) W
% i 2=5 t’i
Gi) A firm produces an output of x tons of a certain

product at a cost given by :
¢ =9 _ﬁ,;z-+ 8x
Show that fgvcragc variable cost is a Parabola.
i S 5 7w




9. () Evaluate :

|
| 2.1"‘]
| J‘(.r+4)(x-—3)dr

qedisd HIY
2x -1
I(x+4)(x_3)£&

(i)  The market supply is P, = 2x® + 4 and the demand

function is P, = 16 - x> Find the Producer’s
Surplus.

AR Aqfd P = 202 + 4 ¥ 3R P, = 16 — x> H7
e T SCEE H AN FE e

Unit-V

(FFE-V)

10. For a three sector economy input coefficient Matrix A and

the final demand vector F are given :

03 02 02

¥ = -.-. 1 .- ; ) [ 5 Lt i |] l:‘ .:
: iy d ! - :| LT _'I _"_-ﬂ . ?,Jﬂr '-!' F:r- :ﬁu.. | : r
- lI ] :_- _:_ 1,;_ ‘:II -::|l ,I: ..- _|I' :. " - ,I "I'_ I i .i: |
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§a Hifeg |
11. Solve the following LEfP using Simplex Method :

Maximize : z = 80x + 100y

S.T. constraints :
x + 2y £ 720

5x + 4y < 1800
3x + 4y < 900
Xy 2q0
e fafy sfyman swam #@ gy fFafafaa LPP &1 & j

s

AfyFaq . z = 80x + 100y
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Note :(— Attempt six questions in all. Question No. 1 is

compulsory (20 marks) and for the remaining five
questions, select one question from each Unit.
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questions will be evaluated out of 80 )16x5=80

marks).
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w0 ©: A & I Ao ¥ He | A E (20 H
sig) oie i ute ww @ e, 9OIE TEE H UF gve |
st (12x5=60 i) | foft Ifieart % form & oi=
yedt @1 qedEwd (16x5=80) 371 H | faar smom

Compulsory Question
(sifrard W) |
1. Attempt each short answer question in five lines or 50 |
wurﬁs. Each short answer question carries 2 marks :
Tor 1 A G 1 G SR A 50 =Rl H I A
Yo oY e g @ fa 2 o ¥

(i) What does it mean by an unequal exchange in
international trade ?

o # eraer fafma | = oo ® 2
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(ii) Distinguish  between factor endowment and

technology.
U weEel o enfiwt & st sfar TR |
(iv) Distinguish between aid and trade.
era SR SR # afe sar v Hife |
(v) Distinguish between nominal and effective tariffs.
T e gyt e & dte SE i
(vi) Distinguish between the SAARC and BRICS.
& 3t fogg & o9 AT SRl
| (vii) What does it mean by flexible exchange rate system ?
] orten fafea g1 gonett & F0 @ ® 2

(viii) What does it mean by balance of payment ?

T S | F aed € 2
(ix) What does it mean by an international monetary

system ?
. s Hifss gonelt @ @ awed ¥ 2
' ‘!ﬁnlp,-a (x) What do we mean by Quotas and SDRs ?

(o
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Unit=I

(3%3-1)
2. Critically examine the Hescher-Ohlin theory of international

trade.
sty saTR @ Ren-sifer fagr &1 SAAAC T

Hifw |

3. Cntically examine the theoiry of absolute advantage.

g oY % A 1 STelsAeds qaem Hifa |
| Unit-T1
(3Te-1D)
4. Define Offer curve. beﬁve an offer curve under each
method of Marshal-Edgeworth, Mill and Meade.

2+10=12[4+12=16]

5. What do we m;-.aﬁ by costs ? Discuss the ways to
B e
- 2+lﬂ=12[4+12=16]

8872
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Unit-ITI

(gahrs-111)

6. What does it mean by international trade ? Discuss various
trade policies adopted by the developing nations, especially
in context of India.
syt s & o A ¥ 2 fasria 9 g A

2+10=12[4+12=16]

.
-

7. What does it mean by custom union ? Discuss the
significance of the WTO in the developing countries
1 international trade perspective.

e n“ |
MM% 3 mﬁﬁ@ﬂwqﬁﬁ&ﬂﬁ
' ﬁﬂﬁﬁﬂ*{aﬂiaﬁﬁqt

2+lD=12[4+12=16]
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Unit-1V

(gars-1V)

{  What does it mean by trade deficit 7 Explal

adjust the exchange rate
o fafe &L HE fawfia
2+10=12[4+12.-16]

determine and

9. What does il mean by internal balance 7 Discuss the ways

to maintain the ‘nternal balance under the approaches of

elasticity and absorption.

syiafieR e @ N A
% ded STt Hqem FEC w?r
2410=12[4+12=16]

Unit-V
10. Dcﬁnn quulﬂll)’ Bla:uss the significance of the SDRs
ovided by the IMF in dealing with the problem of

8872




1. Explain the nature and magnitude of the short term

international finances and discuss how it is going to

hamper the development of the developing nations.

STTRITF RIS forw 1 wpfa oit wfmm 27 s
ﬁm@tﬁﬁﬁq%%ﬁﬁmﬁa%ﬁﬁﬁmmﬁﬁ
9141 ST arer 2 2+10=12[4+12=16]
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Private : 100
Note — Attempt six questions in all. Question No. 1 1s

Compulsory (20 marks) and for the remaining five
questions, select one question from each Unit

(12x5=60). For private candidates these five questions
will be evaluated out of 80 (16x5=80) marks.

el B: T HIC | I¥F FEA | A ® (20 R

m)nmmﬁwmeWﬁw
FAFTT (12x5=60 3Hi H) | Fet e & foau

gty geal &1 qoaid 80 ® ¥ faanr s (16x5=80) |
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Cnmpulsury Question
(1Fard gy

What is Contract labour

%a?ranﬁwaafm%?

Define Labour Market.

(Vi) What are the main principles of Wage determination
process ?

A Fauftor gf P TS fag=

¥ 2

{ 2\



lhl:'f
| (vii) Define Trade Union.
afa® |9 %1 ufonfea #ifm
- (viil) What = the main steps to achieve indﬁsn-ial peace ?
aﬂﬁiﬁmmﬁrmmﬁ%mmw ¥ 2
(ix) What do you mean by Social Security ?

It GRan w1 F Ad ¥ 2

~ (x) Define labour policy.

r L

'I-!‘

o A W o

i

Unit-1

2. Explain briefly the main characteristics of labour market in

g o v’

A
[

) CaaEgbG bo
1

L .
s
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3 What is meant by demand for labour ? Explain various
factors affecting demand for labour.
S F AT W IR € 7 g 1 "M H gl FA
@ fafis @l #1 oA hifs

Unit-II

(zars-10)

4. Eipiam the concept of unemployment. What are the

 easures of unemployment in India ?

_' FWﬁHEWﬂWIWﬁW%Hﬁ

# =grE Hif

5. Explain the relationship between employment and

. = ar L R T
e s B R o e -
the developed countries ?
kel P e S e L - I‘:‘-':: 5 b r )
* al e
B e = R
e P BT = T TIT= - -
b it o e i E i L S b B | . LLALS L:l'.:-.'uj e t ?
L ERE il &l
B




Productivi ty Theory
determination of wage rates What

a
PProach would yoy Suggest for a more complete theory

of wage determination 2

7. Define minimum wages. What are the various concepts of

minimum wages ? Also discuss the problems of

implementation of minimum wages.
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(gae-1V)

the achievements and failures of trade union

_ Define Industrial Disputes. What are the causes of

Industrial Dispute ? What are the different methods [0

resolves the industrial disputes ?

aﬁﬁ\ﬁiﬁﬁaﬁﬁqﬁmﬁaaﬁf‘ﬁr@iaﬁﬁrﬁmw#}w
w%?aﬁd\ﬁrﬁﬁﬂlﬁﬁﬁﬁﬁﬁ%ﬁiﬁﬁﬁﬂ%w




11. Define Factories Act, 1948 . What are its objectives ?

Explain provisions relating to the health of the workers in

a factory.

wE otfufrm, 1948+t uftwren difsu za# 3299 #0
T ? FRER ¥ sftel & @res ¥ gaEtyd yEuE #51
- Sl Sifeu |




